=107 ~
=] - =
- D
e =
= 3
& o
2 It
o
10°%E

e |

bl

2 E i} .
IS r g :
14 [ 24 ]
(oXe1st eREREREREN - RRRREERLY - - - -c-c-c - - AR {
0‘9-—1 ; .2 3 101 : :2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
T DQMstep3_QCD_defaultCHECK
= £
2 e
2 -
5 S
5 o
1072 1072
.910‘3;_ . .910‘3;_ . | \ | L | T
I r 1 I r : : 1
o [ ] o [
0.95]---------- [ - -- - - EEECEEEEEEEEEEEEE SRR 0.95]---------- 0 - - - - TREEEECEEEEEREERER - - - - -- - - - - --
0'190-‘1 1 10 62 3 0'190-'1 1 10 62 3
TPp, (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)
n=
2
D_I—
o
5
107t
107F
2 4
<
@
0.95
0.8 -1 : ' '2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


